E-BID Tabulation Report E-Bid #20240035 - Replacement of Existing Sewer Force Main on Mariposa Avenue OPENED: April 17, 2024 - 3:00 PM

			Eastern Pipeline	Construction, Inc.	Sunshine I	₋and Design, Inc.
Line #	Services	Qty	Rate	Total Amount	Rate	Total Amount
1	6" PVC	340	\$72.00	\$24,480.00	\$76.41	\$25,979.40
	Fittings		-		_	
2	4" MJ Plug	2	\$2,100.00	\$4,200.00	\$533.23	\$1,066.46
3	6" 11.25 or 22.5 degree Bend, MJ	4	\$1,500.00	\$6,000.00	\$1,166.45	\$4,665.80
4	6" 45 degree Bend, MJ	16	\$1,500.00	\$24,000.00	\$1,361.65	\$21,786.40
5	6" 90 degree Bend, MJ	4	\$1,500.00	\$6,000.00	\$1,449.72	\$5,798.88
6	6" HDPE to MJ Transition Adapters w/ SS stiffner insert	4	\$2,500.00	\$10,000.00	\$457.06	\$1,828.24
7	6" Cap, MJ	1	\$1,050.00	\$1,050.00	\$928.40	\$928.40
	Valves and Appurtenances		_		_	
8	6" Gate Valve & Box	2	\$7,500.00	\$15,000.00	\$4,775.50	\$9,551.00
9	2" Air Release Valve	3	\$12,000.00	\$36,000.00	\$18,527.66	\$55,582.98
10	6" Mech Jt Restaint Pair (addition to fittings)	12	\$400.00	\$4,800.00	\$173.78	\$2,085.36
	Connections	-				•
11	16X6" Tapping Sleeve and Value (Wet Tap)	1	\$13,000.00	\$13,000.00	\$11,851.89	\$11,851.89
	Horizontal Directional Drill			,	-	•
12	6" HDPE HDD	5110	\$75.00	\$383,250.00	\$78.07	\$398,937.70
	Sodding		-			
13	Sodding	555	\$7.00	\$3,885.00	\$21.64	\$12,010.20
	Asphalt Pavement Removal and Replacement	-		·	-	
14	Asphalt Roadway Replacement	267	\$78.00	\$20,826.00	\$172.50	\$46,057.50
15	Asphalt Mill and Resurface	1686	\$24.00	\$40,464.00	\$28.75	\$48,472.50
	Concrete Removal / Replacement	-		·	-	
16	Driveway Contingency	50	\$100.00	\$5,000.00	\$172.50	\$8,625.00
17	Sidewalk	80	\$90.00	\$7,200.00	\$276.78	\$22,142.40
	Existing Pipe Grout Fill, Remove and Dispose	<u> </u>		<u> </u>		
18	4" Force Main	2565	\$9.00	\$23,085.00	\$19.10	\$48,991.50
19	Clearing and Grubbing	1	\$11,000.00	\$11,000.00	\$28,750.00	\$28,750.00
20	Maintenance of Traffic	1	\$30,000.00	\$30,000.00	\$41,121.70	\$41,121.70

E-BID TABULATION Page 1 of 1 E-BID #20240035

21	Revention, Control, & Abatement of Erosion / Water Pollution	454	\$10.00	\$4,540.00	\$34.50	\$15,663.00
22	Mobilzation / Demobiliation / General Conditions	1	\$90,346.00	\$90,346.00	\$118,450.00	\$118,450.00
23	Holding of Power Poles	2	\$500.00	\$1,000.00	\$4,600.00	\$9,200.00
	Pavement Markings					_
24	6" Solid White Thermoplastic	123	\$14.00	\$1,722.00	\$12.08	\$1,485.84
25	12" Solid White Thermoplastic	205	\$10.00	\$2,050.00	\$15.53	\$3,183.65
26	24" Solid White Thermoplastic	52	\$36.00	\$1,872.00	\$34.21	\$1,778.92
		, ,	TOTAL AMOUNT:	\$770,770.00		\$945,994.72

1	Submitted original Bid Bond.	Yes	Yes
2	Copy of current insurance.	Yes	Yes
3	Reviewed & Accepted all City terms & conditions.	Yes	Yes
4	Submitted all the required forms.	Yes	Yes
5	Listed projects similar to this one.	Yes	Yes
6	Filed Bankruptcy?	No	No
7	Any law suits?	No	No
8	Any criminal violations?	No	No
9	Submitted the Vendor Code of Ethics.	Yes	Yes
10	Submitted W-9	Yes	Yes
11	Submitted Non-Collusion.	Yes	Yes
12	Proposed Project Schedule	Yes	Yes

Number of E-Bids received:		
Number of Planholders:		
Number of Potential Bidders:		
Number of Non-Responsive Bids:		

Amici Engineering Contractors, LLC		Accurate Drilling Systems, Inc.				
Rate	Total Amount	Rate	Total Amount			
\$250.00	\$85,000.00	\$200.00	\$68,000.00			
\$1,300.00	\$2,600.00	\$710.00	\$1,420.00			
\$1,500.00	\$6,000.00	\$1,350.00	\$5,400.00			
\$4,000.00	\$64,000.00	\$1,360.00	\$21,760.00			
\$5,000.00	\$20,000.00	\$1,415.00	\$5,660.00			
\$9,500.00	\$38,000.00	\$7,150.00	\$28,600.00			
\$2,300.00	\$2,300.00	\$935.00	\$935.00			
\$8,000.00	\$16,000.00	\$3,800.00	\$7,600.00			
\$19,000.00	\$57,000.00	\$9,500.00	\$28,500.00			
\$1,500.00	\$18,000.00	\$770.00	\$9,240.00			
\$26,500.00	\$26,500.00	\$58,000.00	\$58,000.00			
\$92.00	\$470,120.00	\$152.00	\$776,720.00			
\$13.00	\$7,215.00	\$33.00	\$18,315.00			
\$160.00	\$42,720.00	\$365.00	\$97,455.00			
\$26.00	\$43,836.00	\$38.00	\$64,068.00			
\$80.00	\$4,000.00	\$315.00	\$15,750.00			
\$60.00	\$4,800.00	\$350.00	\$28,000.00			
\$12.00	\$30,780.00	\$17.00	\$43,605.00			
\$11,700.00	\$11,700.00	\$8,500.00	\$8,500.00			
\$85,300.00	\$85,300.00	\$138,000.00	\$138,000.00			

\$5.90	\$2,678.60	\$11.00	\$4,994.00
\$140,000.00	\$140,000.00	\$109,000.00	\$109,000.00
\$2,500.00	\$5,000.00	\$2,400.00	\$4,800.00
\$2.40	\$295.20	\$11.25	\$1,383.75
\$12.00	\$2,460.00	\$10.75	\$2,203.75
\$18.00	\$936.00	\$26.00	\$1,352.00
	\$1,187,240.80		\$1,549,261.50

Yes		Yes
Yes		Yes
No		No
Yes		No
No		No
Yes		Yes
	Yes Yes Yes Yes No Yes No Yes Yes Yes Yes Yes	Yes Yes Yes Yes Yes No Yes No Yes Yes Yes Yes Yes